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8y
olve the equation y—3 =0, giving your answers to 2 decimal places.
Calculate the area of the triangle.

9 (a) Thenumbers 0,1,1,1,2,km,6,9,9 are in order (k
Their median is 2.5 and their mean is 3.6.
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In the diagram PQ is parallel to RS.
PSand QR intersect at X.

PX=yem, OX=(y+2)cm, RX=(2y—1)em and SX=(y+ )em

(@) Show that y*—4y

(i) Solve the equation y*—4y—2=0.

Show all your working and give your answers correct to two decimal places.

(ili)  Write down the length of RX.
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(6) @ prime number between 60 and

Answer(b) ]

10 Write as a fraction in its simplest form
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